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QUESTION 1

The application of the Intermediate Routing pattern can address which of the following needs?

A. The need to increase the autonomy of a service due to its reliance on a shared data source.

B. The need to perform content-based routing based upon metadata found in the message header.
C. The need for load-balanced access to a redundantly deployed service.

D. The need to provide pre-defined compensating logic for when an atomic service transaction fails.

Correct Answer: BC

QUESTION 2

When applying the Schema Centralization pattern, multiple services can form dependencies on the same centralized
schema.

A. True
B. False

Correct Answer: A

QUESTION 3

The Process Centralization pattern:

A. physically centralizes business process logic into a single location

B. logically centralizes business process logic into a separate service layer
C. physically centralizes task services into an enterprise service bus

D. logically centralizes task services into an enterprise service bus

Correct Answer: A

QUESTION 4

Which of the following is not a common impact of applying the Rules Centralization pattern?

A. Access to a single rules service can create a processing bottleneck.

B. An increase in performance demands due to the need to access and evaluate business rules at runtime.

C. Conflicts when also applying the Decoupled Contract pattern.

Latest S90.08 Dumps | S90.08 Practice Test | S90.08 Exam Questions 2/3


https://www.geekcert.com/s90-08.html
https://www.geekcert.com/s90-08.html
https://www.geekcert.com/s90-08.html

VCE & PDF https://lwww.geekcert.com/s90-08.html
2024 Latest geekcert S90.08 PDF and VCE dumps Download

GeekCert.com

D. The need to adopt a business rules management product, which can create dependencies on vendor-specific
technology.

Correct Answer: C

QUESTION 5

Because the Process Abstraction pattern advocates the abstraction of logic, its application helps filter out logic in
support of defining services.

A. agnostic, atomic, agnostic

B. non-agnostic, business, agnostic

C. non-agnostic, agnostic, agnostic

D. agnostic, rules-related, non-agnostic

Correct Answer: C
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